YOKDIL SOSYAL BILIMLER
DENEME SINAVI

1. - 6. sorularda, climlede bos birakilan yerlere
uygun diigsen sozciik ya da ifadeyi bulunuz.

Liberty Enlightening the World, known more ---- as
the Statue of Liberty, was presented to the United

States by the people of France in 1886.
A) abruptly B) commonly
C) essentially D) measurably

E) eventually

According to arecent study, urban green spaces
may improve cognition in schoolchildren and
remarkably ---- the negative effects of inequality in

people of all ages.
A) proliferate B) cultivate
C) suspect D) evaluate

E) reduce

The worldwide threat of fresh water shortages has
compelled researchers to investigate alternative

water sources for the ---- of agricultural crops.
A) emergence B) irrigation
C) distinction D) occurrence

E) pressure

The main motivation behind the formation of the
United Nations was to avoid another ---- war like

World War II.
A) temporary B) unintentional
C) constructive D) devastating

E) accidental
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As the number of elephants in Africa declined
remarkably, environmentalists started a worldwide
effort to ---- the ivory trade and eventually the

European Union banned all ivory imports in 1989.
A) shut down B) pass away
C) rely upon D) show up

E) bring about

British schools are ---- pressure to reform their
lunch system after several points raised by new
research indicated a negative impact of school

lunches ---- student health.
A) within / at B) upon / for
C) under / on D) at / through

E) through / to

7. - 20. sorularda, ciimlede bos birakilan yerlere
uygun diisen s6zcuk ya da ifadeyi bulunuz.

Two and a half millennia ago, a small Athenian
army ---- a huge Persian invasion force in a clash
that ---- as a turning point in world history.

A) has defeated / was hailed

B) defeated / has been hailed

C) had defeated / has hailed

D) was defeated / had been hailed
E) was defeating / had hailed

Catastrophic failures at a dam in California
combined with heavy winter storms ---- hundreds
of thousands ---- their homes.

A) have forced / to flee

B) were forcing / having fled
C) have been forced / fled
D) had forced / to be fled

E) have been forcing / fleeing
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10.

11.

Scientists ---- that in the near future the climate in
Britain ---- that of the Mediterranean, ironically a
popular destination for British holidaymakers flying
off to seek the sun.

A) are predicted / has resembled
B) predicted / had resembled

C) had predicted / resembled

D) predict / will resemble

E) have predicted / would resemble

Unless the masses ---- about their individual, social
and national interests, they ---- to enjoy their right
of vote wisely.

A)
B)
C)
D)
E)

have been enlightened / would not be expected
were enlightened / may not expect

might be enlightened / will not be expected

had been enlightened / would have expected

are enlightened / cannot be expected

A study of consumer behaviour ---- that taxing junk
food and subsidising vegetables ---- $3 billion in
healthcare costs over the remaining lifetimes of all
Australians alive today.

A)
B)
C)
D)
E)

has estimated / would have saved
estimated / had saved

estimates / might save

is estimating / have to save

had estimated / could be saving
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12.

13.

14.

People with extensive travel experience have a
huge advantage over those ---- have only lived and
operated in a single local area.

A) which
C) when

B) whom
D) for which
E) who

---- it may sometimes be a hindrance to creative
work, distractibility also seems to be distinctly
beneficial to creative thinking.

A) Now that B) Although
C) However D) Supposing that
E) As long as

Races have no biological foundation; therefore, so-
called races are ---- based on biology, ---- defined in
any scientific manner.

A) either / or
C) rather / than
E) such / that

B) as much / as

D) neither / nor
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15.

16.

17.

18.

Some people believe nature should be altered to
benefit human beings ---- others think it is too

dangerous to make such enormous changes.
A) just as B) only when
C) since D) whereas

E) as if

---- the traditional Arab and Israel conflict hangs
over in the Arabian Peninsula, it will be impossible
to mention a virtual tranquillity in the region.

A) Unless B) Though
C) As long as D) Only if
E) As though

---- it was first built, the Eiffel Tower was disliked by
nearly all residents of Paris, who believed it did not
fit in with the architecture of their city.

A) Until B) When
C) Though D) Unless
E) As long as

In the days of apartheid, South Africa was banned
from international events ---- the international
community wanted to demonstrate oppression of

the black citizens was wrong.
A) because B) whereas
C) therefore D) rather than

E) wherever
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19.

20.

Comics have been published in newspapers since
the 1890s, but they still get no respect from some
teachers and librarians ---- their current popularity
among adults.
A) instead of B) despite
C) as well as

E) thanks to

D) with respect to

---- providing jobs, social entrepreneurs also use
some of their profits to fund projects that can

benefit the community as a whole.
A) In contrast to B) Rather than
C) Despite D) In terms of

E) In addition to
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21.

22.

23.

24.

25.

21. - 25. sorularda, cimlede bos birakilan yerlere

uygun diisen s6zcik ya da ifadeyi bulunuz.

26. — 30. sorularda, ciimlede bos birakilan yerlere

uygun diisen s6zcuk ya da ifadeyi bulunuz.

Dressing for work causes several problems these
days, (21) ---- in the past, it was easy. Men and
women (22) ---- suitable clothes at work. For women,
suitable clothes meant a jacket and a skirt; for men, a
suit, and of course a tie. Then, in the 1980s, casual
dress became popular. However, flexibility in dress
rules caused a disaster at work. In the 1980s, (23)----
American companies offered weekly casual days for
employees to create a friendly and comfortable
environment. It was fun for the workers, and it did not
cost the companies anything. Actually, companies
thought (24)---- comfortable clothes could affect the
workers positively, so most companies let their
employees wear casual clothes once a week, usually
(25) ---- Fridays.

A) nor B) but
C) for D) so
E) then
A) may wear B) could wear

C) used to wear D) might have worn

E) must wear

A) little B) many

C) either D) a great deal of
E) each

A) that B) who

C) whether D) why
E) whose

A) at B) for

C) over D) on
E) in
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26.

29.

30.

. A) For instance

. A) Unless

The royal women of the Old and Middle Kingdoms
(26)---- to be passive, and expected to provide male
heirs without refrain or complications. (27)----, with
these subservient requirements came a deceptive
amount of hidden power. (28)---- a queen hold the
favour of her king, he might leave the running of the
kingdom in her stead while he left the kingdom to (29)-
--- military campaigns or focus on monument
construction. She would also oversee the running
(30)---- the palace and ultimately act as regent if the
king died before a male heir was of age to inherit the
throne independently.

A) were required B) required
C) have been required D) were being required

E) are required

B) However
C) Otherwise D) In short

E) Particularly

B) Only if
D) Should
E) Even though

C) As if

A) take over B) lay off

C) carry out D) give away

E) come across

A) on
C) by

B) behind
D) along
E) of
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31. - 41. sorularda, verilen ciimleyi uygun sekilde
tamamlayan ifadeyi bulunuz.

31. Although we may think of terrorists as sadists and

32.

33.

psychopaths, ----.

A) the word “terrorism” entered into European
languages in the wake of the French revolution of
1789

B) social psychology suggests they are mostly
ordinary people driven by group dynamics

C) true haters are obsessed with their enemies,
attached to them in a paranoid partnership

D) violence can often cause just as much or more
harm than terrorism

E) terrorism came back into extensive use in the late
1960s and 1970s

As aresult of destructive human activity, ----.

A) our friends and colleagues may help open the
doors of opportunity to success

B) the health of our oceans and the life they support is

in jeopardy

C) persistence is an optional trait for those who desire
achievement

D) the evolution of the brain is the most obvious
example of how we evolve to adapt

E) biochemists study the chemical principles of living
things and biological processes

----, but now can do things that would have never
been possible before with the help of assistive
technology.

A) For years, disabled people had to rely on
somebody else doing things for them

B) Itis believed that disabled people should have the
same opportunities as everyone else

C) The Scottish Government was firmly committed to
equality for disabled people

D) Disabled people are twice as likely to live in
poverty as other citizens

E) Disabled people face problems in finding adequate
housing, due to a shortage in accessible housing
across Britain
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34. ----, the history of the modern universities really
dates from the Middle Ages.

36.

A)

B)

C)

D)

E)

Since male students are outnumbered by females
at most UK universities

Because men continue to dominate subjects such
as engineering and technology, architecture and
mathematical sciences

Even though men are less likely than women to
go to British universities

Even if all advanced civilizations need higher
education to train their military and other service
elites

Although the origins of universities can be traced to
antiquity

. Students feel that good qualities of teachers make

teaching better ----.

A)

B)

C)

D)

E)

yet early childhood teachers play an important
part in the intellectual development of children

even if they are trained to teach one or more
subjects to students in years 7 to 12

and decrease the number of frustrating and tense
situations

so they always insisted on adhering to the
deadlines

though teachers want to see their students smile
and make learning a pleasurable experience

Temples were the most important public buildings
in ancient Greece ----.

A)

B)

C)

D)

E)

though Athenian democracy was made up of three
important institutions

because religion played a significant role in
everyday life

so the Greek Philosopher Aristotle made
significant contributions to nearly every aspect of
human knowledge

for in Greek mythology, there is no single original
text like the Christian Bible

yet many consumer products get their names
from Greek mythology
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37. When arise in civil-servant numbers resulted in

38.

39.

economic problems in Tanzania, ----.

A) the IMF forced the government to cut the total

wage bill

B) the variety of soils in mainland Tanzania

surpasses that of any other country in Africa

C) Mainland Tanzania can be divided into four

principal climactic and topographic areas

D) forests grew in the highland areas where there
were high levels of precipitation and no marked

dry season

E) mainland Tanzania had been home to an

exceptionally rich array of wildlife

Alarms are believed to add protection against
intrusions, ----.

A) so they have some drawbacks that can leave

owners feeling frustrated and even vulnerable

B) yet they typically provide all the features found in

a standard, wired alarm system

C) for they are somewhat more vulnerable to

hackers and other malicious intruders

D) but they also involve a significant expense and

have some drawbacks

E) if many homeowners purchase wireless alarm

systems for their ease of installation

----, the diversity of life on Earth will continue to
decline.

A) While ecological biodiversity is the diversity of

ecosystems, natural communities and habitats

B) Because there is more biodiversity within tropical

ecosystems than temperate ecosystems

C) Unless people recognize the link between their

consumption choices and biodiversity loss

D) Since biodiversity allows for ecosystems to adjust

to disturbances like extreme fires and floods

E) Though a common way to measure biodiversity is
to count the total number of species living within a

particular area
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40. Just as a picture is worth a thousand words, ----.

41.

A) the Internet has revolutionized the way we publish

and consume information

B) the human brain can process images up to 60,000

times faster than words

C) great visual communicators pair their talents with

speaking more often than writing

D) the balance of digital marketing has shifted to favor

textual over visual content

E) our faces can communicate a wealth of information

----, but that job would be easier if shared with a
responsible husband.

A) Human beings always want what they do not have

instead of appreciating what they have

B) No matter how developed your country, women are

not safe on their own

C) What can make the problems even worse for

women is that they still face prejudice at work

D) Many single women raising children do a

maghnificent job

E) Single women have to face the relentless pressure

of their parents, forcing them to get married
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42.

43.

42. — 47. sorularda, verilen ingilizce ciimleye
anlamca en yakin Tiirk¢e ciimleyi bulunuz.

In the USA, fish is not a particularly popular
food; nevertheless, about 130,000 people are
directly engaged in the fishing industry.

A) Balik, ABD’de 6zellikle popller bir yiyecek degildir;
ancak, yaklasik 130.000 insan dogrudan balikgilik
endustrisiyle ugrasmaktadir.

B) ABD’de yaklasik 130.000 insan dogrudan balikgilik
endustrisiyle ugrasmasina ragmen, balik 6zellikle
popdiler bir gida Grind olamamistir.

C) Neredeyse 130.000 insan ABD’de dogrudan
balik¢ilik endistrisiyle ugragsmaktadir; fakat, balik
hala bu tlkede 6zellikle populer bir yiyecek
degildir.

D) ABD’de balik 6zellikle popiiler bir yiyecek
olamamis olsa da, neredeyse 130.000 insan
dogrudan balikgilik endustrisinin icindedir.

E) Balik, ABD’'de 6zellikle popller bir yiyecek degilse
de balik¢ilik endustrisinde yaklasik 130.000 insan
dogrudan istihdam edilmektedir.

A great many inventions have been made
throughout history, but the invention of the
computer has probably been more influential on
our way of life than any other.

A) Tarih boyunca birgok bulus yapilmasina ragmen,
yasam tarzimiz Gzerinde muhtemelen en cok etkili
olan bilgisayarin icadidir.

B) Yasam tarzimiz Gzerinde bilgisayarin icadi
herhangi baska bir icattan daha fazla etkili
olmustur; fakat, tarih boyunca daha birgok farkli
icat yapiimistir.

C) Tarih boyunca pek ¢ok icat yapilmistir; ancak
bilgisayarin icadi, yagam tarzimiz Gizerinde
muhtemelen diger bitin icatlardan daha fazla etkili
olmustur.

D) Tarih boyunca farkli birgok icat yapilmasina
ragmen, bilgisayarin icadi yasam tarzimiz (izerinde
muhtemelen herhangi bagka bir icattan daha fazla
etkili olmustur.

E) Tarih boyunca yapilan birgok icat arasinda
muhtemelen bilgisayarin icadi, yasam tarzimiz
Uzerinde herhangi baska bir icattan daha fazla
etkili olmustur.
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44, No matter how good you are at your job, it is likely

that you are going to make some errors because of
heavy workload.

A) Iste ne yaptiginiza bakilmaksizin, agir is yiikiinden
dolayi kesinlikle bazi hatalar yaparsiniz.

B) Isinizi tatmin edici bir sekilde yapmaniza karsin,
agir is yikinden dolayi bazi hatalar yapmaniz
kaginiimazdir.

C) Sirf agiris yukinden dolaysi, iyi oldugunuz bir iste
dahi bazi hatalar yapmaniz muhtemeldir.

D) lsinizi ne kadar iyi yaptiginiz fark etmez, agir is
yukinden dolayr muhtemelen bazi hatalar yapmak
zorunda kalacaksiniz.

E) Isinizde ne kadar iyi olursaniz olun, agir is
yukinden dolayi bazi hatalar yapmaniz
muhtemeldir.

45. Foreign investment in Palestine has been growing

significantly, especially since the economy
recorded a growth rate of 9,3% in 2010.

A) Ozellikle ekonominin 2010’da %9,3’lik bir bilyiime
kaydetmesinin hemen ardindan, Filistin’deki
yabanci yatirim kayda deger artislar gosterdi.

B) Ekonominin %9,3'lik bir bllyime kaydettigi 2010
yilindan itibaren Filistin’deki yabanci yatirim ciddi
Olcude buyudu.

C) Ozellikle ekonominin 2010°'da %9,3'liik bir biyiime
kaydetmesinden bu yana, Filistin’deki yabanci
yatinm ciddi élglide blylimektedir.

D) Ekonominin 2010'da %9,3'lik bir biiyime
kaydetmesiyle birlikte Filistin’deki dogrudan
yabanci yatirim biyik élgliide artti.

E) Ozellikle ekonominin 2010’da %9,3'liik bir bilyime
kaydetmesinin ardindan, Filistin’deki dogrudan
yabanci yatinm orani kayda deger gelisme
gostermektedir.
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46.

47.

Virtually all human societies before 11,000 BC
consisted of small bands of hunter-gatherers that
moved incessantly in search of food.

A) M.O. 11.000'den énce kiigiik avci-toplayici
gruplardan olusan hemen hemen bditiin insan
topluluklari, yiyecek bulmak icin hareket ediyordu.

B) Yiyecek bulmak amaciyla surekli hareket halinde
bulunan tiim insan topluluklari M.0. 11.000’'den
once kliglk avci-toplayici gruplardan
olugmaktaydi.

C) M.0O. 11.000'den énce hemen hemen biitiin insan
topluluklar kiiglik avci-toplayici gruplardan
olustugu igin yiyecek bulmak icin strekli hareket
etmekteydi.

D) M.0. 11.000’den 6nce hemen hemen biitiin insan
topluluklari, yiyecek bulmak igin stirekli hareket
eden kuguk avci-toplayici gruplardan olusuyordu.

E) Kicguk avci-toplayici gruplardan olusan hemen
hemen bitiin insan topluluklart M.O. 11.000'den
6nce surekli hareket halinde oldugundan dolayi
yiyecek bulabiliyordu.

Since its economic reform began in 1978, China
has gone from being a poor developing country to
the second-largest economy in the world.

A) 1978 yilinda baglayan ekonomik reformu
sayesinde, Cin gelismekte olan yoksul bir tlke
konumundan dinyanin en biyik ikinci ekonomisi
seviyesine gelmistir.

B) Gelismekte olan fakir bir tlke sinifindan dinyanin
en buyk ikinci ekonomisine déntisen Cin, bu
gelisimi 1978 yilinda baglayan ekonomik
reformuna bor¢ludur.

C) Ekonomik reform basladigindan itibaren, 1978
yilinda gelismekte olan yoksul bir (ilke sinifinda
bulunan Cin diinyadaki en blyuk ikinci ekonomi
seviyesine varmistir.

D) Ekonomik reformu 1978 yilinda baslayan Cin, o
glinden beri gelismekte olan yoksul bir tlke
konumundan diinyanin en buyik ikinci ekonomisi
seviyesine gikmisgtir.

E) 1978 yilinda ekonomik reformu bagladigindan beri,
Cin gelismekte olan fakir bir Ulke sinifindan
dinyadaki en buyuk ikinci ekonomi konumuna
yukselmistir.

48. - 53. sorularda, verilen Turkc¢e cimleye

anlamca en yakin ingilizce ciimleyi bulunuz.
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48. Diinyanin geri kalaniyla kiyaslandiginda,

Avustralya 1970’lerde diinya petrol fiyatlarindaki
hizl artisi izleyen durgunluktan olduk¢a geg¢
etkilendi.

A) Unlike the rest of the world, the recession that
came after the sudden rise in world oil prices in the
1970’s hit Australia fairly late.

B) Compared to the rest of the world, Australia was hit
fairly late by the recession that followed the sharp
rise in world oil prices in the 1970’s.

C) A comparison with the rest of the world reveals that
Australia was struck fairly late by the recession
which came after the sharp rise in world oil prices
in the 1970’s.

D) The recession that followed the unexpected rise in
world oil prices in 1970’s struck Australia much
later than the rest of the world.

E) As opposed to the rest of the world, struck by the
unexpected increase in world oil prices in the
1970’s, Australia evaded the recession.

. Siddeti 6nleme yontemleri, bireysel davranisi,

cevreyi ya da kanunu degistirerek ise yarayabilir.

A) Individual behavior might be changed through
violence prevention strategies with the help of the
environment or the law.

B) Rather than violence prevention strategies, the
environment or the law might play a key role in
changing individual behavior.

C) Violence prevention strategies might work only if
the environment or the law changes individual
behavior.

D) Violence prevention strategies can work through
changing individual behavior, the environment or
the law.

E) Changing individual behavior, the environment or
the law might benefit violence prevention
strategies.
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50. Korsan baski kitaplarin yayginlagmasi, birgok
kiiglik yayinevinin kapanma siirecini
hizlandirmaktadir.

A) Widespread use of pirate copy books helps

increase the speed at which many small publishing

houses close.

B) Due to the widespread availability of pirate copy
books, many small publishing houses are closing

one after the other.

C) Pirate copy books which have recently become
prevalent may increase the speed at which many

small publishing houses are closing.

D) Because of widespread use of pirate copy books,
many small publishing houses are speedily going

into a closure process.

E) Pirate copy books’ becoming widespread

accelerates the process of closure of many small

publishing houses.

51. Bagimsizhiginin ardindan, komsu iilkesi

Yunanistan’in baskisiyla, Makedonya bu lilke ile

olan ticari iligkilerini gelistirmek zorunda kaldi.

A) Following its independence, with pressure from its

neighbouring country Greece, Macedonia was
bound to improve its trade relations with this
country.

B) After its independence, it was the pressure from its

neighbouring country Greece that forced
Macedonia into improving its financial relations
with this country.

C) Following its independence, under no pressure

from its neighbouring country Greece, Macedonia
was willing to improve its trade relations with this

country.

D) In the years following its independence, Macedonia

was forced to improve its trade relations with
Greece as this neighbouring country exercises
pressure on it.

E) Since there was pressure from a neighbouring
country, Greece, Macedonia had no option but

improve its financial relations with this country after

its independence.
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insanlar genellikle bilimin nispeten yeni bir alan
oldugunu diisiiniir; ancak, en genis anlamiyla,
bilim insanhigin kendisi kadar eskidir.

A) People frequently think of science as a relatively
modern field; however, in its broadest terms, it is
as old as humankind itself.

B) Science, which is, in its broadest terms, as old as
humankind itself, is typically regarded as a
relatively modern field.

C) Science, in its broadest terms, is as old as
humankind itself, yet people normally consider
science as a relatively modern field.

D) Usually regarded by many as a relatively modern
field, science, in its broadest terms, is actually as
old as humankind itself.

E) Even though people generally consider science as
a relatively modern field, it is, in its broadest terms,
as old as humankind itself.

53. Eglencenin yerine, ki eglence bir oyunun yegane

gayesi degildir, insan sahnede sergilenen oyun
sayesinde bilgilenmelidir.

A) Drawing lessons from the play acted on stage,
rather than entertaining oneself, must be the sole
reason for visiting the theatre.

B) Theatres should not be visited with the aim of
entertainment alone; instead, one should learn
lessons from the play acted on stage.

C) Instead of entertainment, which is not the only
purpose of a play, one must acquire knowledge
with the help of the play acted on stage.

D) Paying a visit to the theatre must not be for
entertaining ourselves; rather, one should be able
to draw lessons from the play performed on stage.

E) The purpose of visiting the theatre is to be
entertained rather than draw lessons from the play
performed on stage.
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54.

55.

54. - 59. sorularda, bos birakilan yere, par¢gada
anlam bitiinliigii saglamak igin getirilebilecek
cimleyiz bulunuz.

---- The main points of this agreement were that
militarism and Hitlerism should be destroyed; that
industrial power should be so reduced that
Germany would never again be in a position to
wage aggressive war; that surplus equipment
should be destroyed or transferred to replace
wrecked plants in allied territories.

A) The Second World War was the most widespread
war in history, and directly involved more than 100
million people from over 30 countries.

B) The Empire of Japan aimed to dominate Asia and
the Pacific and was already at war with the
Republic of China in 1937.

C) The Axis advance halted in 1942 when Japan lost
the critical Battle of Midway, near Hawaii.

D) In 1945, following the Second World War, the allies
that is, the United States, the Soviet Union, and
Britain drew up and signed the Potsdam
Agreement.

E) The war in Europe concluded with an invasion of
Germany by the Western Allies and the Soviet
Union.

---- But environmental scientists can still be
surprised by the distances that large quantities of
industrial pollutants can sometimes be carried by
winds. For instance, a group of chemists at the
University of Washington in Seattle have been
involved in a case study of such pollutants which
reached the West Coast of America all the way
from Asia.

A) Itis known that pollution is no respecter of national
boundaries today.

B) Every form of pollution has two sources of
occurrence; the point and the non-point sources.

C) Air pollution is the most dangerous form of
pollution.

D) Water pollution not only harms the aquatic beings
but it also contaminates the entire food chain.

E) Every other day, new industries are being set up,
new vehicles come on roads and trees are cut to
make way for new homes.
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56. Thomas Edison, one of the pioneers of modern

technology, lacked formal education. ---- Also,
despite the fact that he had invented the
phonograph and founded a recording company, his
musical taste was terrible. He is, therefore,
sometimes regarded with disdain by academic
scientists.

A) So many of Thomas Edison’s inventions are held
in such high regard that he is considered the
greatest inventor of all time.

B) Contrary to popular belief, Edison did not invent
the light bulb; it had been around for a number of
years.

C) In addition to his talent for invention, Edison was
also a successful manufacturer and
businessman.

D) His understanding of literature, art, history and
philosophy was superficial.

E) During the Civil War, Edison learned the
emerging technology of telegraphy, and traveled
around the country working as a telegrapher.

57. ---- There is a growing number of female presidents

and prime ministers, as well as record proportions
of women elected to national parliaments. This
suggests that women have made important gains
in political sphere. At the same time, women
continue to be involved in large numbers in social
movements and political parties.

A) In recent years, the status of women as political
actors has captured the imagination of spectators
around the world.

B) Social movements have long been a central focus of
studies of women, gender and politics.

C) Debates over how to define women’s movements
have led to discussions over the nature and location
of social movements.

D) The concept of women'’s interests is central to
feminist evaluations of socialist societies.

E) When governments fail to serve their basic needs,
women tend to withdraw their support.
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58.

59.

The original Globe Theatre was built in 1599 in
London’s Bankside district and was owned by a
number of local actors and playwrights, including
William Shakespeare. The theatre was built using
the materials from an earlier theatre. ---- It was
three stories high with seats filling its interior
perimeter. In the centre was the pit, where
attendees would stand and watch the
performances. This first structure lasted until 1613,
when it was destroyed by fire during a performance
of Henry VIII.

A) During the first years of Elizabeth’s reign, the
English playing companies used inns, inn yards,
college halls and private houses for their
performances.

B) Its first decade of use made it a favourite not just
with subsequent generations of theatregoers but

with the company itself.

C) The experience of watching a performance at the
Globe Theatre was radically different from that of

viewing modern Shakespeare on-screen.

D) The plays were staged in the afternoons, using the
light of day, and the audience surrounded the

stage on all sides.

E) It was constructed as an open-air amphitheatre

that resembled a twenty-sided polygon.
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The modern garden has a history going back many
thousands of years. Early humans were hunters
and gatherers, and didn’t usually stay in one place
for along time. ---- During the Neolithic period, over
10,000 years ago, this slowly began to change;
humans started to domesticate certain plants,
which meant they could remain in one place and
grow their own food. As a result, the first ‘garden’,
was a vegetable-garden, where early humans
cultivated different types of plants for food.

A) The starting point of the Neolithic Period is much
debated, with different parts of the world having
achieved the Neolithic stage at different times.

B) As gardening evolved, so too did the countless
ways in which a yard could be adorned with plants,

ponds, and other forms of nature.

C) Instead, they travelled from place to place following
the food (plants and animals) according to the

seasons.

D) Neolithic technologies also spread eastward to

the Indus River valley of India by 5000 BC.

E) Inthe early 18" century many people rebelled
against formal gardens and preferred a more

“natural” style.

60.

62.

60. — 65. sorularda, ciimleler sirasiyla
okundugunda parganin anlam biitiinliigii bozan

climleyi bulunuz.

(I) There are perhaps 370 million indigenous peoples in
70 countries around the world. (II) They live on 20% of
the world’s land, and they contribute to 80% of the
world’s biological and cultural diversity. (Ill) In fact, the
diverse indigenous peoples share common problems
also related to the protection of their rights. (IV) For the
last few hundred years, however, European colonialism
has marginalised them. (V) Europeans have given
them diseases against which they had no defences,
suppressed their culture and language, and tried to
assimilate them into western societies.

A)l B) Il c) D)IV  E)V

. () Two of the greatest works of ancient literature, the

lliad and the Odyssey, are credited to a Greek poet
named Homer. (Il) However, Homer is a shadowy
figure, and some scholars doubt that he ever existed.
(Il1) They suggest that the two epics, which tells of the
Trojan War and the events surrounding it, were woven
together by generations of storytellers. (V) Others, on
the other hand, believe that one poet — perhaps Homer
— could have gathered traditional legends and stories
told for centuries and created the two great works of
literature. (V) According to tradition, Homer was a blind
poet who wandered from place to place telling tales of
legendary heroes, gods and goddesses.

A) B) Il C) Il DIV E)V

(I) Planet earth has been home to some pretty terrifying
civilizations over the years, but few would deny that the
most fearsome of all were the Vikings. (II) For example,
Roman artefacts have been unearthed from
Scandinavian Roman era sites. (Ill) Best known for
their mighty dragon ships, these warriors from the north
spent their days scouring the oceans in search of their
next target. (IV) Unlike the Romans 1,000 years before,
whose ambitions had been to conquer, the early
Vikings set sail in search of treasure and slaves. (V)
Between the 8" and 11™ centuries, they pillaged and
plundered towns across Europe, ruthlessly killing
anyone who stood on their way.

A)l B) I c) D)IV  E)V
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63. (I) Although the population of England in the nineteenth
century was rising at an unprecedented rate, that of the
cities was increasing by leaps. (ll) This was due to the
effects of the Industrial Revolution. (IlI) People were
flocking into the towns and cities in search of
employment; for some, it was also the call of the
unknown, escapade and a better way of life. (IV) There
are numerous social benefits attributed to life in the
cities and towns (V) This period is known to be the
beginning of many new things.

A) B) Il C) Il DIV E)V

64. (1) Children and adults often have their special bedtime
rituals. (II) Even in crowded places, sleeping tends to
be considered a private activity. (l1l) The most well-
known ones include reading, watching TV or listening
to some music. (IV) Also, some people cannot go to
sleep unless they have said their prayers, whereas
others have to take a bath before going to sleep. (V)
These routines give them peace of mind and gradually
put them into sleep mode.

A B o) D)IV E)V
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65. (1) A caricature is a picture or other presentation that
exaggerates the particular physical or facial features,
dress, or manners of an individual to produce a
ludicrous effect. (Il) A comic strip, or comic, is a
sequence of cartoons that tells of story. (Ill) Often but
not always humorous, comic strips usually chronicle
the lives of recurring characters, and sometimes
humour arises from the reader’s familiarity with a
particular character. (V) Dialogue is usually present in
balloons, as encircled words issuing from a character’'s
mouth within the panels of the cartoon. (V) Well-known
examples include American super-hero series, such as
Batman and Superman; the humorous historical series
Asterix from France, or the science-fiction series Akira
from Japan.

A)l B) Il c) D)IV  E)V
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66. — 68. sorular asagidaki par¢aya gore
cevaplayiniz.

One of the critical activities that transpire in schools is
that students absorb information. When they complete
high school, many will be able to use a computer,
write a well-developed essay with a clear thesis
statement and meaningful supporting details, speak a
foreign language, and differentiate equations. Besides
picking up specific skills, they will have learned to
think critically, to reflect on evidence and to make
independent judgment. The degree to which this
desired objective comes about largely depends on
both school and home environments. For instance,
teachers who are more likely to embrace new ideas
and are less strict with the classroom rules and
regulations, produce students with the ability to
assess and adapt to changing circumstances rapidly,
draw inferences and conclusions, and to utilize
multiple creative solutions and eventually have higher
achievement test scores. Moreover, studies reveal
that teachers tend to be more successful and
demanding unless they are of a different social class
from their students. The greater the disparity between
their own social background and that of their students,
the more strictly they manage their classrooms and
the fewer demands they make on their students.

66. It is stated in the passage that open-minded

teachers ----.

A) help students improve their intellectual skills and
ultimately get better test results

B) usually belong to a lower social class than their
students

C) tend to be rather more authoritarian towards their
students

D) surprisingly discourage intellectual flexibility in
schools

E) are likely to give students more homework than
authoritarian teachers
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67. According to the passage, the moment students
graduate from high school, ----.

A) very few will have the capacity to reflect on their own

or think critically

many of them will have such skills as writing essays
and differentiating equations

all of them will have a good command of a foreign
language and knowledge of equations

B)
C)

D) they will be able to take the overall responsibility for

almost anything
E) most of them will lack enough knowledge because

of unavailability of perfect learning conditions

68. It can be understood from the passage that ----.

A) teachers coming from a higher social class than
their students should be employed

B) it is not too difficult to establish ideal learning
conditions in state schools

C) school and home environments alike influence a
student’s achievement in school

D) with close supervision, every student can make good
grades or get high test scores

E) students learn best in a strict classroom dominated
by an open-minded teacher
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69. — 71. sorulan asagidaki par¢aya gore
cevaplayiniz.

Fire-fighters put their lives at risk every day to rescue
people from burning buildings and to stop the spread
of raging fires, often with nothing more than a hose
and a ladder. But the latest developments in fire
fighting technology are helping to make the job much
easier and safer, speeding up rescue missions and

keeping the fire-fighters out of harm’s way. Enormous,

water-carrying aircraft can come to the rescue when
widespread and unpredictable wildfires get out of

control, and drones and robots can assist fire crews in
city blazes, when visibility may be poor and structures

are unsafe for humans to enter. Even the method of
dousing the flames is getting an upgrade, as water is
being replaced by chemical fire retardants that can

ultimately help the re-growth of plants that once grew
on the scorched terrain. In the future, there may be no

need for human fire-fighters at all, as high-tech

machines could tackle dangerous infernos completely

unaided, using blasts of electric current to essentially
snuff out the flames in an instant.

69. Itis suggested in the passage that ----.

A)
art equipment while dealing with flames

B) though new advances can help simplify the job of
fire-fighter, they cannot step up rescue missions

C) fire-fighters can enter unsafe structures except
when poor visibility prevents them from doing so

D) human fire-fighters may not have a role to play in
extinguishing flames in the future

E)
and processing data with respect to wildfires

fire-fighters are typically equipped with the state-of-
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some shortcomings will always exist with collecting

70. According to the passage, ----.

A)

B)

C)

D)

E)

A)

B)

C)

D)

E)

thick smoke will certainly obscure fire-fighter's view
of the scene

the most dangerous types of wildfires often occur
when conditions are hot, dry, and windy

a great number of people fear that drones will not
only help fire-fighters but also replace them very
soon

thanks largely to improved modelling software,
scientists can now predict wind motion on ever
smaller scales

fire-fighters have access to more than just a hose
as drones and high-tech machines become
commonplace

. One can learn from the passage that ----.

instead of water, chemical-based fire retardants
are being used that have the potential to revive the
nature of the area afflicted by the fire

a group of robots armed with hoses may have
been how one imagined the fire department of the
future fifty years ago

the first fire-fighters to reach remote wildfires are
smokejumpers who parachute from aircraft into
flames

unmanned vehicles could be only useful for fighting
fires at night

a great number of people believe fire fighting will
remain a human endeavour for good
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72.—74. sorulan asagidaki par¢aya gore

cevaplayiniz.

Individuals rather than large companies controlled the
first English attempts to colonize North America. For
instance, Sir Humphrey Gilbert was the first
Englishman to send colonists to the New World.
However, his initial expedition, which sailed in 1578
with a patent granted by Queen Elizabeth, was
defeated by the Spanish. A second attempt ended in
disaster in 1583, when Gilbert and his ship were lost
in a storm. In the following year, Gilbert's half-brother,
Sir Water Raleigh, having obtained a renewal of the
patent, sponsored an expedition that explored the
coast of the region that he named “Virginia.” Under
Raleigh’s direction, efforts were then made to
establish a colony on Roanoke island in 1585 and
1587. The survivors of the first settlement on Roanoke
returned to England in 1586, but the second group of
colonists disappeared without leaving a trace. The
failure of the Gilbert and Raleigh ventures made it
clear that the tasks they had undertaken were too big
for any one colonizer. Within a short time, trading
companies replaced the individual promoters of
colonization.

72. Which of the following would be the best title for

the passage?

A) British - Spanish Rivalry in the New World
B) Early Attempts at Colonizing North America
C) The Regulation of Trading Companies

D) Large Trading Companies and Colonization

E) Royal Patents Issued in the 161 Century
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73. It can be understood from the passage that ----.

A) the trading company owned by Sir Humphrey
Gilbert was given a patent by the queen

B) all the inhabitants of the second settlement on
Roanoke Island gave up and returned to England

C) establishing colonies in North America was a plan
carefully drawn up and financed by Queen
Elizabeth

D) Sir Humphrey Gilbert fought the Spanish twice and
was never victorious

E) the first English colonizers of North America were
not acting on behalf of large companies

. According to the passage, ----.

A) the first English settlement on Roanoke Island was
established in 1578

B) the fate of the second group to settle on Roanoke
Island is unknown

C) Sir Walter Raleigh set out for North America for the
first time in 1578

D) the first English people to be engaged in
establishing colonies in North America became
immediately successful

E) large trading companies played a significant role in
the first English attempts to colonize North America
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75. —77. sorulan asagidaki par¢aya gore

cevaplayiniz.

The Bermuda Triangle in the Atlantic Ocean has
become associated with mysterious maritime
disasters in the public mind. Even though the
reputation of the Bermuda Triangle can be traced to
reports made in the late 15" century by navigator
Christopher Columbus, the incident which
consolidated the reputation of the Bermuda Triangle
was the disappearance of five U.S. Navy torpedo
bombers in 1945. Yet, books, articles, and television
broadcasts investigating the Bermuda Triangle
emphasize that, in the case of most of the
disappearances, the weather was favourable, the
disappearances occurred in daylight after a sudden
break in radio contact, and the vessels vanished
without a trace. However, sceptics point out that many
supposed mysteries result from careless or biased
consideration of data. Other proposed explanations
for disappearances in the Bermuda Triangle include
the action of physical forces unknown to science, a
“hole in the sky,” an unusual chemical component in
the region’s seawater, and abduction by extra-
terrestrial beings. Scientific evaluations of the
Bermuda Triangle have concluded that the number of
disappearances in the region is not abnormal and that
most of the disappearances have logical explanations.
However, paranormal associations with the Bermuda
Triangle persist in the public mind.

75. Itis understood from the passage that ----.

A) more than one thousand people have lost their
lives in the Bermuda Triangle according to
estimates

B) the public is likely to keep associating the Bermuda
Triangle with unusual maritime disappearances.

C) many believe that the mystery of the Bermuda
Triangle is the only mystery that will never be
solved

D) human error plays a more significant role in the
disappearance of vessels and aircrafts in the
Bermuda Triangle

E) the theory of abduction by extra-terrestrial beings
has gained more followers than any other theory
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76. The passage is mainly about ----.

A) why many people tend to believe in the irrational
while explaining the disappearances occurring in
the Bermuda Triangle

B) the overwhelming necessity for further research
into the Bermuda Triangle though there is
scientific evidence available

C) the emergence of the Bermuda Triangle as a
mysterious place and some suggested
explanations for disappearances

D) a variety of disappearances that have enormously
contributed to the reputation of the Bermuda

E) a great number of conspiracy theories dealing
with the unsolved mystery of the Bermuda
Triangle

. One can conclude from the information at the end

of the passage that ----.

A) logical explanations based on scientific evidence
will never be enough to shed light on
disappearance stories

B) weather conditions around the Bermuda Triangle
are almost never favourable

C) some of the disappearance stories have been
made up by US Navy officers to attract worldwide
attention to the area

D) the Bermuda Triangle may not be as mysterious a
place as it is thought to be

E) the Bermuda Triangle is a place where the
compass does not show towards North



